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Commack High School
Regents Physics

Worksheet: Electric Currents

1. The electric field intensity between two charged metal plates is 800. N/C. The
plates are 0.5 m apart. What is gt/t)e difference in potential between them?
2. A voltmeter reads 500. V when placed across tow parallel plates. The plates
are 0.02 m apart. What is the electric field intensity between the}gw?
v=£p £y - gﬁ%ﬁ‘;; 25 0cc £
&0 ‘
3. What voltage is applied to two metgf plates 0.05 m apart if the field intensity
between therrj Ii 2}00 N/C? & - 25;{21‘3/{? 055%%} = /S
V-2 < ’
4. A generator transfers 1.0 C of charge through a potential difference of
110Volts. %z /C U 2 lOv

a. What work does the generator do? 7 , : —
b oz Vg ov(ic) s 1ic @ ]

4
b. What is the potential eng%j.o C of charge after the transfer?

= o)
. A generator transfers 50.0 C of charge through a potential difference of 110V.
=0 v=/lov
a. What work does the generator do to transfer the charge? —
@ Y g wa(sed] | 1Ov) = §§®5} J
b. The generator accomplishes this work in 5.0 seconds. How much work
does it do per second? |- J ’ ;’f ooT |
§ 3;5;}?’ /

T |

(8]

c. What power does the generator deliver ir)m)w tts? In kilowatts? -
w= Pt  Ssoc]. P(Ss/ P=11cCy) o ilicie
- 6. The current through a light bulb connected across the terminals of a 120 V
outlet is 0.5 amps. At what rate does the bulb use electrical energy?
T= .SH - 2¢v e P=vT=120v (.S ,s;} Lol
7. Atoaster connected to a 120V so% uses 4.0 amps of current. What power
does the toaster use? - e 1 = #/7 DT Rev (?(4;} - YfO
8. What current flows through a 75 Watt light bulb connected to a 120 V outlet?
GCHEW Venc/ TPV BWeT (¢ T. cach

9. The current through a motor connected to a 60 'V battery is 2.0 amps. What
energy in joules does the motor use in 5.0 minutes.

L0 Y sl
- ' %27 W= vIt
Tz 2/t ) v \
e W+ i{””’éz’@ (3005
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10.A lamp draws 0.5 amps from a 120V generator.
T=0SA Y=oV
a. How much power does the E; jrator deliver?
(, IV -
b. How much energy does the Jamp use in 5.0 minutes?
e e S0 miny

11.A resistance o é30 0Qis placed across a 90. V battery. What current flows in
the circuit? veqo  TI=7

f v 2o - 7"" 1 Sﬁ
12.A current of 0. 5 amps flows through a Iamp when it is connected to a 120 Vv
source. - SA - /2,0‘/

a. What is the resistance of the lamp?

K ? z /’O,_.Z‘/ - QYO
b. What is the wattage of the lamp?

~ P-Tv -, sy (,u;ou) s LoV
13.A 15 Q electric heater op operates on a 120V outlet.
ro KA~ vz ot/
a. Wh% current flows through the heater?
IS _Z__QV - f}}

b. How maéh energy is used,by the heater in 30. seconds'?
W:T%r 4 {(£4) 83@ lNigoe Yy
(& How much heat is liberated by the heater in this time?
2rdcay

14.A 30.0 Q resistor is connected to a 60 V battery.
L300y . gov
a. What is the current in the circuit?
VTR Cov: I (zpa) 1o M
b. How much energy is used by the resistor in.5. O minutes? I
Wo VIt Lov(2p) [3205) 5,000

15.A 100 Watt hght bulb is 30% efficient.
P 7 Ca e

a. How many joules does the t’/ gtt bulb convert into llght each minute it is
in operation? s ‘

v 2w (€05) = el
b. How many joules of heat does the light bulb produce each minute?
£

, W= ((/05) = 7{06




